D a=1 @ a=3 @a:E) @ a=7 ® a=

yEoll B3 o, x = k&l
sLa—T7=-2a+8

3a=15

SLa=>5




27 2 A2et 297 1 719] L 1300 Lo, B 3 249} .97
2 72] 3£ 2100 YOItk 97 1 7he] 71H29

@ 200 € (@)300 el @ 400 €4
@ 500 € ® 600 ¢

%

=4 o AR 7HAS x Y, A Y 7HE S y HolEtar
St
2x+y=1300 ---(1)
3x+2y=2100 ---(2)
(1) x 2= (2) 3t x = 500
x =5002 (1) tHYstH 1000 + y = 1300
y = 300

t

—




A %5 x olgt sk
80
5000 25 — 2
x > 25 X 5000 X 100° x> 20

L 217 ol




e B = P b e IV RS BB o o G P B I R o
7 202 AF AL e 2718 A=l 20420] Z2]al A% 5km &
Aettd, FolA B km oJuioll A= e o8 4 A=71

5 25
@ gkm @265km ® 3km

~&B

Aol M 72 o A= E x =) s




BS5Xax<b f7t x> 105t &
a#0,b#0)

@ a>b @ a>0,b<0
@ ab>0 @—%<0

o, o

o

227

Mo

=
<

(@)a—i—bzo

~&B

x<b 9 7t x> -19]BE2 a<0

IS




